Question Paper Preview

Question Paper Name: AP ICET 2017 Shiftl
Subject Name: AP ICET 2017
Analytics Ability
Display Number Panel: Yes
Group All Questions: No

Question Id : 8650044172 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (1 to 20)
Data Sufficiency
ALLL S EJG"&E__}@

Note: In questions numbered 1 to 20, a question is followed by data in the form of two

statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropniate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer
the question but neither statement alone 1s not sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient
to answer the question and additional data 1s requared.
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Sub questions



Question Number : 1 Question Id : 8650044173 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If p and q are integers. 1s p=q?
p Sodoiw gen :.}Jﬂg“os'*umaﬁ, p>g @)oo 7
. B4

6 3
II. pisamultiple of g.

q CO0E), 208 (e P.

Options :
1 1

tJ

3 B
4 4

Question Number : 2 Question Id : 8650044174 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What 1s the value of p?
p 0l Ded dodd ?

I.  pisaprime number
P 28 &R0

II. pis an even natural number
p 28 R0 'ﬂaﬂﬁaﬁﬂl&é.

Options :

1

tJ

2,
3 3
b
Question Number : 3 Question Id : 8650044175 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What 1s the perimeter of the triangle ABC? C
ABC gz adws), G’JJ%JJJ%D o Joch 7

I x=45°

II. The area of the triangle is 18 sq.cm

&5 8z T oo 18 . 0.8 A

Options :

1



]

o]

;3
4 4
Question Number : 4 Question Id : 8650044176 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
Is the natural number m even?

"n:-fmae.r“n}oa,:&]g m, '&:&‘rboa_r5 ?
L. m 1s a multiple of an odd natural number
28 8D QIR0 A0S, 28 (ogdza5500 m

IL. m 1s the LCM of two odd natural numbers
Bocsy &5 RTPRR0T(L VS, E..00. m

Options :
11

]

3.
3 &
4 4
Question Number : 5 Question Id : 8650044177 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
Is the positive integer n a prime?
cﬁéf.@ﬁgﬂosm N 208 DT f-aaaré ?
K o an e g
. The number of positive divisors of n” 1s 3.
n° cﬁnsb GRraTw E}o@:}g % 4
I. nisadivisor of 1155,
1155 '33”5&; 208 PRS00 N.

Options :
11

(]

. 2
4 4
Question Number : 6 Question Id : 8650044178 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
If aand b are real numbers. is their product ab negative?

a <20boi b o7 “n}caaéuoma, T8 ueé:n;.‘m ab amn“ejés;ir ?
I 5la| +3[b|=0
I 5lal=3b

Options :



I3

L2

<3
4 4
Question Number : 7 Question Id : 8650044179 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What is the value of 119x + 247y?
119x + 247y adws), e doh?
I 119x+ 246y =482
II.  x1s greater than v by 2.
Y Sotd X Cotdd Blala

Options :
11

-3

. 2
B
Question Number : 8 Question Id : 8650044180 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Does the point P (a, b) lie in the first quadrant?
P (a, b) Docdrs) DL rcos” sotots?

L. a+b=2
II ab < -2
Options :
11
g 2
5. B
4 4

Question Number : 9 Question Id : 8650044181 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What is the cost price of the pen?

&3 D (Swo) alwg), §3) DV Jod?

I. Ifitissold for Rs. x + 2. the profit will be 5%.
oA A, x+2 & wﬂ:&é, Sy erdo 57.

II. Itis sold for Rs. x at a loss of 5%.
&= 5% AFIE ar.x & eod) T



Options :
11

(]

. 2
B
Question Number : 10 Question Id : 8650044182 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Is (x> + y°)'° an integer

()" w8 grghears?

I x4+ }-’3 1s a multiple of 125,
125 o308, 28 Msdasw (X' +y)

B, : . . :
II. x + v is equal to the volume of the cuboid whose dimensions are 16 cm. 125
cm and 27 em

16 0.2, 125 20.20, 208050 27 2o.2b, PBATET A0 £DAS 28 e
LODAN GBI, DBDBITBIVID (X' +Y) DATSo.

Options :
1 1

]

3
i, &
Question Number : 11 Question Id : 8650044183 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
If a 1s the average of the numbers 1. 2. 3 and x. then what 1s the value of a?

1,2,3 2080w X Dogdje) BTG 3 oS, 3 oIS, Qe oh?

) :
1L x= E{ba —X)
II. xisan integer,

X 25 t’.g_jog‘;aca}::é.

Options :
1

I3

.
3 o
4 4
Question Number : 12 Question Id : 8650044184 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Is the product of the mntegers a. b and ¢ equals to 17
a, b 0baodw ¢ angﬁanaasu AT 1 8 RAIAFHA?
L. a=0b=0.c>0

. atbhte=3

Options :
1

I3

.
1. B
4 4
Question Number : 13 Question Id : 8650044185 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. 2 B z
What is the value of ﬂ—:, 7
b= £

£+ 2 caog), Dend dods?
ol i

I a=2c¢c
a b
I =4-=8
b &
Options :
1
9 -2
3 B
4 4

Question Number : 14 Question Id : 8650044186 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

How many cylinders each with a radius 27" and height 6" can fit into the rectangular box?
28 AEEFSBTT Y DS, 28 B 27 T 0D, 6780 SHHD AEDIVW I

RBIT BB ?

I The volume of the box 1s 230 cubic inches.
&5 6 WAD007e0 230 DoA eorYreD.

II.  The length of the box 1s 37",
e DO T 37
Options :
1 1

2



4 4

Question Number : 15 Question Id : 8650044187 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the diagram given. ZABC = 90°. Then what is the value of z?
& %) 6° A DS LABC = 90° 09236 2 Dewsd Dod?

I.  The value of y is three times the value of z,

y 0308 DD Z DS 3 Bew. iy
II. The value of x 1s half that of z. B !
X G308, Dewsd z Denses” dio. A
Options :
1
g 2
% 3
4 4

Question Number : 16 Question Id : 8650044188 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A. B and C are digits between 0 and 9 inclusive. Then what is the value of B?
A, B 2080t Cen 0 0bain 9 © 206 TOS DI 0 eoSewn. D & B DEVD aoch?

AB
+
[ =84
AAC
II. A=1
Options :
1
n 2
3. &
4 4

Question Number : 17 Question Id : 8650044189 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a. b. ¢ and d are integers, is the sum ab + cd an odd integer?
3,b,c o8t d oS QPFToSTL NS, ab + cd AW 28 E3 Roax|?

I.  aand c are both even mtegers.
a 208odw ¢ &° Tokr 2B Rogfe.

II. bisan even integer and d is an odd nteger.
b 2.8 2BRe] 2B d 28 B0,



Options :
11

(]

. 2
B
Question Number : 18 Question Id : 8650044190 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a. b. m and n are distinct positive integers such that a™ = b". then what is the value of
a-+bt-min?
a" = b" eschyeenr a,b,m 208ain N e D) SIFT oS oS |, a+b+m+n
CBVE), DD Dob?
I.  Each of a. b. m and n 1s less than 10.
a,b,m 08031 n e HB 088 10 S0k S8, 0.

I b=l

Options :

1

]

3
i, &
Question Number : 19 Question Id : 8650044191 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

With reference to the given figure. what is the value of ¢ + d?
GSDeI0 m‘;gvé, c+d CBE), Ded Jodh?

I. b+f=80

II. a+b=110

Options :

1

b3

&
4 4
Question Number : 20 Question Id : 8650044192 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If x and y are both integers and their product xy < 0. what is the difference between x and y?
X «20B080 ¥ w0 Sole ‘f.‘g_jog"n}oaasw S08asn T0ed e.:fg;in xy < 0 e2008, X Sodaiv y
© 206 BP0 dot?

L. Hdy=2
H. _3 = X = }
Options :
11
9.2
3 &
4 4

Question Id : 8650044193 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (21 to 30)

Problem solving
Ry D
Sequence and Series
00857780, Bradew

Directions for questions 21 to 30.

21 foc 30 H6L (1O P VS AFBHE

In each of the questions 21 to 30 an analogy with two strings of numbers or letters or
both are given following a definite pattern on the left. Identifying this pattern. you have
to fill the blank space on the other side analogously from among the four options given.

21 Aooc 30 HOLD 1V DI S° 2.8 DIABDI 2B DD Doayd dor
wiTrod Jor BodBE J6\AD Bocd Dome D7) on. & ArB8I0080D Bl
TS’ BoxdHPY (10 PN, BDNH TLOMD DANT® Aod JodE B2, ) BTe0D
2r8oioc.

Sub questions

Question Number : 21 Question Id : 8650044194 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

4:: B : 25
Options :

22
, 220

, 150



Question Number : 22 Question Id : 8650044195 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

DIME : EHOC :: RING :

Options :

1 SGPE
, SHPE
, SHPF
, THPE

Question Number : 23 Question Id : 8650044196 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

AXE :EYI:: GEL :
Options :
| LFM

, LEN
, HIM
, HER

Question Number : 24 Question Id : 8650044197 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

KUWR : OYAV :: : HIPQ
Options :
, DFLM

DFLN
' DELM

L2

, DFKM

Question Number : 25 Question Id : 8650044198 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

5:100::10:
Options :
900

800
3. 700

o



4, 600

Question Number : 26 Question Id : 8650044199 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

64100 T2y
Options :
;144
121

L2

, 112
4. 81

Question Number : 27 Question Id : 8650044200 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2202855 5

Options :
, 0.05

0.025

]

A5

4, 0.04

Question Number : 28 Question Id : 8650044201 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

BRF: AOK :: TSM :

Options :
| SQJ
, SPR
, STO
4, SQH

Question Number : 29 Question Id : 8650044202 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

AJE :EKI::ISO:
Options :
LTV

LRU
OTU
OTS

L2

L



Question Number : 30 Question Id : 8650044203 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

AUNTY : CSPRA :: UNCLE .

Options :

| XLEJG
 WLEJH

L-2

WPEIG

- WLEJG

e

Question Number : 31 Question Id : 8650044204 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Ao 35 HESH (o Q-’S‘lﬂ.}ﬁﬁ 2TV ABeotdodt.

Options :

i NP
PR

L2

us

4 EG

Question Number : 32 Question Id : 8650044205 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 &00& 35 H6D fo D) 0S° POTVITID BBt

Options :
Lawyer

| oraid

Counsel

s° :}ﬁﬁ

Advocate

E¢5§E5

Judge
206,
2

Question Number : 33 Question Id : 8650044206 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



In questions 31 to 35 pick the odd thing out
31 &ooc 35 HE Mo Q%‘lﬂﬁﬁ BT VAT ABotdodt.

Options :

| SCANT

, FLUSH
RIVER

: CROWD

Question Number : 34 Question Id : 8650044207 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 &00& 35 H6DH (L D) 0S° POTVIFTID HBotOE.

Options :

| CRY
JOY

FRY

-2

g, TRY

Question Number : 35 Question Id : 8650044208 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 &00d 35 H6DH K D) 0S° BTV HBotOE.

Options :
;. Teach

, Explain

Instruct

(&)

4 Educate

Question Number : 36 Question Id : 8650044209 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 45 36 Avod 45 S0 e @%‘lt}g} oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 Aood 45 HOL (o DS g&ia‘iﬁm B\ DOV, WETLISD), DTS, BECVOETD, 28 SBGDD
RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
e 080 DobhardE sorio Sexridio 3Fdodiodd

6,11.27.51.
Options :

| 66

2 83

, 102

.. 193

Question Number : 37 Question Id : 8650044210 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 e aﬁi‘it}g} oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A0 45 HOD (o DS HF) S’ DD DoVJRLSD, VATV, DEPENS), VECVOET, 2.8 LGOI
RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
e 080 DobhardE sorio Sexridio 3Fdodiodd

7.26, 124, 342,

Options :
| 524

Question Number : 38 Question Id : 8650044211 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 e @%‘lt}g} oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 Aood 45 HOL (o DS g&ia‘iﬁm B\ DOV, WETLISD), DTS, BECVOETD, 28 SBGDD
RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
e 080 DobhardE sorio Sexridio 3Fdodiodd

2:3,4,6;6. 9 8; 12, 10,

Options :



. 12
14

15

L2

16

Question Number : 39 Question Id : 8650044212 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 e g@img; oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 Mvod 45 HOL o DS g&ia‘iﬁm FD\D VOV, VETLISD), DELVSD, BECDOEIT, 2,8 SWEID
RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
e 080 DobhardE sorio Sexridio 3Fdodiodd

2 3 5 7
3’4’6’8
Options :
2
1 10
E
gy X
il
12
3
13
4. T

Question Number : 40 Question Id : 8650044213 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 e g@img; oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 Aood 45 HOL (o DS g&ia‘iﬁm B\ DOV, WETLISD), DTS, BECVOETD, 28 SBGDD
RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
29080 Dabardsd Horio Seritiors DFHodod

8..5.% ¥1.24,

Options :

3 . ]

2 36
37



-
Lad
[

Question Number : 41 Question Id : 8650044214 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 e g@ig}g} oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 Aood 45 HOL (o DS gﬁ;@“m B\ DOV, WETLISD), DTS, BECVOETD, 28 SBGDD

RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
esa0ga0 DohardE sorio Sexridoo 3Flodiod

24, 60, 120. 210,

Options :
| 316

336

Question Number : 42 Question Id : 8650044215 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 e g@ig}g} oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 A0 45 HOD (o DS HF) S’ VDD DoPFEHSD, VATV, DEEVSD), VECVOET, 2.8 LGOI

RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
esa0ga0 DohardE sorio Sexridoo 3Flodiod

1.8.22.50, 106,
Options :

148

172

L2

196
218

Question Number : 43 Question Id : 8650044216 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 45 36 Avod 45 S0 e @%‘lt}g} oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 Aood 45 HOL (o DS g&ia‘iﬁm B\ DOV, WETLISD), DTS, BECVOETD, 28 SBGDD
RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
e 080 DobhardE sorio Sexridio 3Fdodiodd

2.3.6.11.18.
Options :

| 24

.26

-2
|

-2
s

Question Number : 44 Question Id : 8650044217 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 e aﬁi‘it}g} oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 Mvod 45 HOL e DS g&ia‘iﬁm FD\D VODJEVSD), VETLISD), DEPLNSD, BECVOETD, 28 SBGDD

RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
e 080 DobhardE sorio Sexridio 3Fdodiodd

10, 30, 130. 350,

Options :
1 750

, 1080
1342
1568

Question Number : 45 Question Id : 8650044218 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 e @%‘lt}g} oI

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 Aood 45 HOL (o DS g&ia‘iﬁm B\ DOV, WETLISD), DTS, BECVOETD, 28 SBGDD
RODLATAY FrehinTe) 0w, DA DT S BDD TN DDYEPOR0E HBODH DAFEPHINO[) IO
e 080 DobhardE sorio Sexridio 3Fdodiodd

8o 905 W g

Options :



2 8
g 12

11
4

Question Id : 8650044219 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 48)
Data Analysis
GEroT D0
In the following table, the distribution of marks obtained by 100 students in two papers
in mathematics 1s given. Study this table and answer the questions 46 to 48.
o HPES® 100 0B Do riedeto &° Toch DDYS® BB A0, e0
@I Cio oNd. & DUC B[O G 46 Ao 48 H0% o PTYOL
PSTERS0 TPaol

Marks out 40 and 30 and 20 and 10 and 0 and
of 50— above above above above above
50 2 40 0600 | 30 Sob8ain | 20 H008cin | 10 Soboivn | o S2obaodw
@mﬁsbsb;l 23 D3 23 pled 2% el &3 D) &4 )
mmbm—}
Paper
aab L
I 3 22 67 32 100
II 8 31 79 o1 100
Aggregate 6 27 71 88 100
20650

Sub questions

Question Number : 46 Question Id : 8650044220 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

How many students scored less than 40% marks in aggregate?

Fobblatubh) s 40% QI°EY) S0 S8 D AT°CY) LV BN ﬁm&g:w

dodod?
Options :



. 14
18

L2

3 29

30

Question Number : 47 Question Id : 8650044221 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The approximate percentage of students that obtained 60% and above in paper II. over
the number of students that obtained 40% and above in aggregate in that paper. is

D06 —11 &° 40% 208050 0B e AVSE HI7EN) L SV K‘.lm“éngoﬁ,
&3 DD 607% 20B0IN B Do HBIFE),L VS SR DTJE0 Todo Jodh?

Options :

40

42
44

L2

48

Question Number : 48 Question Id : 8650044222 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

How many students will pass. if there 1s a compulsory passing mimimum of 40%
marks in paper I only?

D06 —1 &° 20700 &BEBD 407% BDVY WONSB, ook Rloget
&dduHTD?

Options :

14

18
31
67

Question Id : 8650044223 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (49 to 53)



Data Analysis
GEFoT D3P

In the following pie chart. people 1n the various age groups of a town are given. The
total population of the town 15 3.00.000. Study this pie chart and answer the questions
from 49 to 53.

208 P D0 28 DY@ BTN HoDVE HLB0D BAEIONHG.& DD
aJrer 3.00.000. & p Derdy enoirfow 49 Aol 53 HOL) ey 2T V8 DATEEI0

orOoG.
[ ——,
abowe 60 years
72

e |

| |
} 40 - 60 years ,'I
o5
25 - 40 years
108
e S "

Sub questions
Question Number : 49 Question Id : 8650044224 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
People of 40-60 vears age group are less than those in 25-40 years age group by
40-60 "rao;ﬁﬁbwu D070 2BARIAVGTCDAD Sobl, 25-40 ﬂ]né@gﬂ“ﬂ SoBi0e5°D
2R OVT o ué%@

Options :
| 8.000

9.600

L2

10.000

12.000

Question Number : 50 Question Id : 8650044225 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What percentage of the total population in the number of people in the age group of less
than 10 vears

10 VoIS TrOSeE S5 5 DALMY 2R0VDVE A Doy, Ado 2T°eeS” dodh Teho?

Options :

10



Question Number : 51 Question Id : 8650044226 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The difference between the number of people of the minimum age group and maximum

age group of that town 1s
&5 Do AIVE), SAD SHODAS D VANTADLY 2T7EL BT (8T HORES D
RANEOY) BT DG (0 gicdo

Options :

| 20.000

25.000
; 30.000
40.000

Question Number : 52 Question Id : 8650044227 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ratio of the people in the age group of 40-60 years to that of those less than 10
years is
40-60 ‘;aoaejbﬁmae.} :13;&5 oodrnwad agrars, 10 “ﬂﬂbﬂhdm}u Sotd @5%:.)
SoBA fword aTrers) ;fuc,ﬁ]g .i’)fq:]eg
Options :
313

B3
i 94

3

Question Number : 53 Question Id : 8650044228 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The people in the age group of 10-25 years and those in 40-60 years together constitute
a total population of
10-25 2008600 6] DaDR0GL J78 27 08080 40-60 DodSBa0w Q6]

SOOI 277 SOV DOE Ao 2T

Options :

i 90.000

, 1.00.000



4 1.10.000

1.20.000

Question Id : 8650044229 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (54 to 55)

Problem solving

mmav;;i S

Data Analysis
GErod D

The number of students who play some or all the three games: Tennis, Basket ball and Hockey of

a class 1s shown in the following table. Based on this information answer the questions

34 and 35

28 BOASS™D Dorjied’, 82D, )8 a7 DB S e Jrd vbed” £y
gor ) 8 ITjHe Dodj & Sl EJ%E:S'EB‘G ROEDDD. & DATTGo BTGl

W3R0S 54 S0Boin 55 D)V PAFEEDHo Trolo’.

Game Tennis Basket | Hockey | Basket Basket | Hockey | All the
29y ﬁ:}lﬁa ball ball & ball & & Three
EJD::)EJ&S Hhe Hockey | Tenmis | Tennis | Aaweh
ey 5 | e S s
eed b b LZTATIN
eed ALl Snbain
«0Baiv | S0faiv ﬁﬂii‘)
e LEGES
No of
students
Emﬂﬁg}u 35 30 30 10 10 8 3
“':0033-5

Sub questions

Question Number : 54 Question Id : 8650044230 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of students who play only tennis. 1s
8) D gl s nﬁﬁ“ﬁ%’)ﬂ Qo]

Options :

| 24

-
i

kal —

"
3. 20




4.

19

Question Number : 55 Question Id : 8650044231 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of students who play only Basket ball and only Hockey. 1s

$500 &) 65 ereS Bk Sdwo TS ArGo Bd De§Eow Roa

Options :

25

1.

"

28
30

.
32

Question Id : 8650044232 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)

Coding and Decoding Problems
ECoh, CERoh “'pam“’m?gm

Directions for questions 56 to 60

36 Suoc 60 HOL (v PF) LS RATFLIDED

In a certain code, every n™ letter in the English alphabet 1s coded as ™" letter where 1 is
the remainder when 5n+ 7 1s divided by 26 and 1 < r < 26. For example, the 10

letter J is coded as 5% letter E, since (3 x10) +7 =57 =(2x26) +5. For decoding the
reverse process 1s followed. Based on this answer the questions 36 to 60.

2,8 DG EE &° woff ©260r0S° D n O LT, Sn+7 D 26 I PRI G Dy
o r, 1 <r = 26 VOVIDYE D VS0 E& dara. amrarond 105 @860 J
R0 (5 x10)+7 =57 = (2x26) +5 e 55 w60 E mr E& 3. E8'coh &, 43

S5 SN V8T, 6D BrrsrT S 56 Aod 60 HOLH v PIY L
aaTrene) orolloc.

Sub questions

Question Number : 56 Question Id : 8650044233 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The code for ‘MONEKEY " 1s

MONKEY ™ o3 Hordd §&

Options :

1.

ol

YDTEKW
TIDOAG
TDYJFB



, YITOKG

Question Number : 57 Question Id : 8650044234 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the given code. the number of letters which are coded as themselves 1s
GITE & TO3 d ewahiwinm §E Sabjed ©LoTuRa)

Options :

1
L.

2

Question Number : 58 Question Id : 8650044235 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the given code, the number of letters which are coded as inunediate next letter in the
alphabet is

SSEEE &, VEBITVS"D DROJoLD JHBy BET S L0 EE Ba{RE LT Doy

Options :

!

-

Question Number : 59 Question Id : 8650044236 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which word is coded as *“VDTZYP'?
“VDTIZYP = €& iﬁod:&m&?ﬁ Do 6T

Options :
COMENT

CEMENT

L3

CAMLIN

 COMING

I

Question Number : 60 Question Id : 8650044237 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

‘MISERY" 1s coded as

‘MISERY" & §& D60
Options :



 TEXASC
TZYERB
TZXFSB

- TEYDRC

I

Question Number : 61 Question Id : 8650044238 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a code language. if ‘tee see pee’ means ‘drink fruit juice’. ‘see kee lee’ means ‘juice
1s sweet’ and ‘lee ree mee’ means ° he is intelligent’. which word in that language
means ‘sweet’
28 §& eried” ‘tee see pee’ e9083 ‘drink fruit juice’. ‘see kee lee’ 9083 ‘juice is sweet’
208050 ‘lee ree mee” 9083 ¢ he is intelligent’. e9o0@, es23783e5” ‘sweet’ e90€3

Options :

1 see

lee

L2

kee

4 fee

Question Number : 62 Question Id : 8650044239 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a certain code language ‘pit nae tom™ means ‘apple is green’. “nae ho tap’ means
‘green and white” and ‘ho tom ka® means ‘shirt is white’. Then which one of the
tollowing represents ‘apple’ in that language
208 Qgg & erdes” “pit nae tom’ 903 ‘apple is green’. ‘nae ho tap’ e90€3 ‘green and
white” 208030 ‘ho tom ka’ e0€3 ‘shirt is white’. @360 &5 e7RQe°, €808 T°IS” DB
‘apple” D AFWRS ?

Options :

| nae

q Tom

; ka

, bt

Question Number : 63 Question Id : 8650044240 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If ‘nitco sco tingo’ stands for ‘softer than flower’. ‘tingo sho mst’ stands for * sweet
flower fragrance’ and ‘mst sco tmp’ stands for * sweet than smuile’. then what would
‘fragrance’ stand for?

‘nitco sco tingo” edo€3 “softer than flower’. “tingo sho mst’ e0&] * sweet flower
fragrance’ 20803 ‘mst sco @08 * sweet than smile’. e, es23°3e5° ‘fragrance’ 9063
DA NB0H?

Options :

{ rho

mst

L2

mp
3 !

SCO

Question Number : 64 Question Id : 8650044241 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a certain code language. *“when did you come’ is written as ‘ti na ki ja* “will you
come again’ is written as “na pa sa ja’ and ‘she will go” is written as ‘pa da ra’. Then
how will ‘again’ be written in that code language?
S ﬂgg E& er$e5°. ‘when did you come’ D “ti na ki ja’me&d ‘will you come again’
S ‘napasaja’Trad o8cdw ‘she will go” A ‘pa dara’ O TV XN &8 E&
S ‘again’ P TRPE?

Options :

| na

sa

L2

Question Number : 65 Question Id : 8650044242 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a certain code language “singing is appreciable’ is written as ‘cod tip mot’. *dancing
is good’ is written as ‘mot nik min’ and “singing and dancing” is written as ‘tip mop
nik’. How 1s ‘good’ written in that code language

28 K]gg & er$eS” ‘singing is appreciable’ D ‘cod tip mot” meay. ‘dancing is D ‘mot
nik min’ MRy 208a30 ‘singing and dancing” J ‘tip mop nik’ MR TR &5 §&
e “good’ D VDG TFE?

Options :

| mot

nik

L2

nin

=3



tip

Question Number : 66 Question Id : 8650044243 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
mm%né TS
Date, Time & Arrangement Problems

a4H, mavaio, edanbde RRgED

If 20™ March 1995 was Monday. what was the day on 15 August 19947
1995 ;33"5:} 20 & 86 JHoordo wawnd, 1994 Ed% 15 338 o) T°6o 90007

Options :
Monday

ot e o 12)

Tuesday

VoYt

Sunday

es&ys7°Co

Saturday

FDT00

Question Number : 67 Question Id : 8650044244 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

mmavé PGS

Date, Time & Arrangement Problems
B4, Daobo, it DD

The time when the hours hand and nunutes hand in a clock coincide between 3 PM and
4 PM 1s

28 (1C.03°6085” 3 pm 20Ba3 4 pMS 06 (00 B00eN HBOIN AR AW
RoTrdho Wod DSvado

Options :



3 hrs 1'?’i min
11
3 Hotre) 1?% Arew

4 :
3 hrs 16H min

3 Kot 16% AWIrew
3 lFe 18" i
s 11 TTLLT

3 Kobyes 18%3333?9_13

3 hrs 19i min
11

3 Kobier 19% DArew
4

Question Number : 68 Question Id : 8650044245 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
mm%n?g TS
Date, Time & Arrangement Problems

a8, Havaoio, dodLe NSRINION

A clock is set right at 5:00 AM. This clock loses 16 minutes in 24 hours. If the clock
shows 10:00 PM on the 4@ day. the true tume then was
S ﬁ&oﬁrn‘ﬁ]l 5.00 am 58 DOBIQ. & KE03ITG0 24 Botrees’ 16 Jabares

Eﬁbmcé. 83 SC03Co 4 S5 B 10.00 pm tor6e3, E:BD@ TR Voo
Jodh?

Options :
| 10:00 PM

10:30 PM
; 11:00 PM

, 11:30 PM

Question Number : 69 Question Id : 8650044246 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
DT 5D

Date, Time & Arrangement Problems
A4, Havobe, edanbte RRgED

If A x B means B 1s the father of A.
A + B means A 1s the wife of B.

A +— B means A is the brother of B.
then the relation of J with J+M-=R XL is

A X B @908 A a3ws), Soc, B, A+ B e908) B s, Wr6f A, A+ B 9083 B a008);
Ve A 0and, Py IHM+RXLE J ding), dotodo

Options :

Sister i law
balaFiwblelnlbb)

Daughter in law

E¢en

L2

Daughter
sSraodd
Sister

'8

Question Number : 70 Question Id : 8650044247 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

:omav;_;‘ S

Date, Time & Arrangement Problems
B8, Davodo, edndte DadIED

In covering a certain distance. the speeds of A and B are in the ratio 3:4. If A arrives at

the destination 20 minutes later than B. the time (in hours) taken by A to arrive at the
destination is

WS BN A>Ty BAD Do’ A S80I B & Srdwe QNG 3:4. B 3063

G 20 Do) A oD ﬁ@“ﬁﬁlﬁd)é:oéj , rﬁ;ﬁJ"éDl DOCAS A S ::ééé rAPeblonbls
(Hotreres”)

Options :



Question Number : 71 Question Id : 8650044248 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
DT 5D

Date, Time & Arrangement Problems
@4, pavobo, eadanbte RN

A man walks at the rate of 5 kmph and arrives at the station 7 minutes after the
departure of the train. If he walks at the rate of 6 kiph. he arrives at the station in 5
minute before the departure of the train. The distance (in km) he covered to reach the
station 1s

(ot)8 5 8.2 STy FED w8 I[8, evwod DD DEDDYD 7 DAL SOTS
NN S BOOTE. B (fodd 6 3.2 SR A, Bevwod DN HOIDTEIS

5 Dadaren Snocd 20D 3 BT, SISSRN BEOE IS 93¢ HOST 0 BDD
&G0 (82 ee5°)

Options :

1. !
6

o]

5

4

Question Number : 72 Question Id : 8650044249 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
DT 5D

Date, Time & Arrangement Problems
A4, Havobe, edanbte RRgED

Five persons A. B. C. D. E are sitting in a circle facing the centre. C 1s sitting second to
the left of A. D is sitting to the immediate left of B. E is immediate neighbor of neither
D nor B. Who i1s sitting to the immediate lett of D?

A.B. C.D. E 09 2dord Sjsoen w8 29)T"5°008" SoGDAVINY DEND &I D. A
& DD Bottd gnaoe_'i‘ C £700NT) 0. B & DR0DoD dE0PY D SrdoyT™) 6.
B &9, D &0 E D0D0erd TEHHI D 5°¢0. D & D0DoD dE0DL) 58
SOBNA) DT 7

Options :

B

o mmoe

B

Question Number : 73 Question Id : 8650044250 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

mmavé S

Date, Time & Arrangement Problems
B8, Davobo, edndLe DadIE

¥ . § 1
For non zero real numbers a and b. definea X b = i Then Y12, (1 X E) =

ATI(SBC TRV @ OBV b S, a X b = é + % T DOGEIET0. 956

I T
i1 (1%5) =
Options :
1 35

) 65
; 101
, 110

Question Number : 74 Question Id : 8650044251 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving

mm%né PGS

Date, Time & Arrangement Problems
A4, Havobe, edanbte R[N

faAb=a’+b" —3ab for any real numbers a and b. then {1 A (—1)} A {ﬁﬂ \/E} =
D TSV 3, b 08, a Ab= a®+ b’ —3ab eond, {1A (-1} A{VZAV2Z} =

Options :

1. -53

)
3 -39
59

Question Number : 75 Question Id : 8650044252 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

mm%né PSS

Date, Time & Arrangement Problems
a8, Havobo, 9dobde RRgED

ELF=(E4+F)+(E—-F:ETEF=(E4+F - (E-FF=01D1213) =

Options :

1 546

, 616
876
428

Mathematical Ability

Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 8650044253 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arnthmetical Abality
ea0dieded P0G, &

=)

i a—h: .. b—r c—a 1+x 1y 14z

— =— == :':; : 2 > —
X a+b X E:r+f'z c+a 12" 1% “1-2
Options :
1 0
., a+b+e

ab+ bc + ca
4, 1

Question Number : 77 Question Id : 8650044254 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability
esoLricded avmgé@
¥ Yx=xVx)*=x=
Options :
1.n
(1~=)
" —n)"
l.n
L@+
1+n)"
4, ( )

Question Number : 78 Question Id : 8650044255 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

espdricied é)vmgé@

Ifaa+b+c=8072.a:b=b:c=23:2 then the value of a is
a+b +c=8072.a:b=b:c=23:2 eand a e
Options :

;. 36

27

5 24



4. 18

Question Number : 79 Question Id : 8650044256 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability
ea0Sricded avmgé@
The cube root of a is inversely proportional to the square of b. if a =8 when b = 3 then
the value of a when b= % is
a clng), 2RV, b B, ;ﬁtg‘i)é D5 Ao hees” cod. b=3 0D
a=8 eond b=3/2 oD 3 Jed
Options :

16

32

L2

; 64

4 512

Question Number : 80 Question Id : 8650044257 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality
esoricied avmgé@
3 [3—I5
Taking V5 =2.2360 the value of ,_”—,v—_ =
1.,-"2 + '.," ?—31.."
/35
5 =2.2360 &SI ———— ded

( V2 +J7-35
Options :

| 0.4247
5 0.4472
5 0.4274
4 0.4742

Question Number : 81 Question Id : 8650044258 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arnthmetical Abality

enodricied avmgé@

a>4. 8 JS{&—I}—I—ZJE&.E —7a—4 =

Options :

va+1++a—4

V2a—1+Ja+ 4

: V2a+1+/a—4

Vv2a+1-y/a—4
4

Question Number : 82 Question Id : 8650044259 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

The greater power of 2 dividing 2400 1s
2400 &0 2rfotd 2 AS), H(HS DTG0

Options :
-~

i,
2 3
5 &

5

Question Number : 83 Question Id : 8650044260 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality
eaodiicded avmgé@

If 100 < n = 999 and n leaves remainders 1 and 3 respectively when divided by 3 and 8
then the maximum value of n 1s

100 = n < 999 eonedraot N 3, 8 0 ﬂ“ﬁoﬁﬁéﬁa e DM 1,3 eowd n
r‘iﬁﬁﬁ.’}{ 2enS

Options :

. 993



9

~

A

5

979
3

, 931

Question Number : 84 Question Id : 8650044261 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality
esogricded avmgé@

To run around a track. A, B and C respectively. take 27. 36 and 45 seconds. All of
them start simultaneously at a point P on the track. The nmunber of rounds made by C

when all of them meet next at P 1s
28 Mot erd) ‘-"5‘3%33" DERGErIS A,B,C & £ SR 27,36, 45 DSaoen
DEIHB. TGoBA L) D 28 Dot P Aol 28 SPw0es’ DHEM JTrCoDotrdd. €3

;‘JJJL'{"&JGP 200 P ;f)cc:b'} 00T Sgﬁaéﬁﬁﬁé C 5.‘123;1 w0t SOTTe.

Options :
)

a. 15

3

4.

Question Number : 85 Question Id : 8650044262 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

The greatest common divisior and the least common multiple of two numbers are 21
and 4641. If one of the number lies between 250 and 300 then the other number 1s

Gt Vogd[e) (181 3“;33“?05 arasaw, SN .3“;1:%5 roedasnen 21 8ok 4641.
TS° 2,8 Doy 250 £ 300 £ 2GS Potd 2F'E Do)y

Question Number : 86 Question Id : 8650044263 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arnthmetical Abality

enodricied avmgé@

(- -0 Hafi-T) =

Options :
| 0.04

0.01

L2

5 0.20
- 0.02

Question Number : 87 Question Id : 8650044264 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esodricied avmgé@

The rational number given by 0.136 is
0.136 & &oDerdd S6e30% Doy
Options :
211
o A
4723

5/44

Question Number : 88 Question Id : 8650044265 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

espdricied avmgé@

. . . EEF N8
If a;. ay. a3 and ag 1s the decreasing order of the elements in {? g5 E’E} thena; —ay=

2. F 5 &8
2 {F'E’E’E} 5°D Hareste eS8 engae ag. a). a3, a4 QNS XD\ aj—ay =
Options :

PP

17/56

L2

, 19/56

217



Question Number : 89 Question Id : 8650044266 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality
enodrieded avmgé@

If the numbers 169, 248, 416, 479. 175, 621 and 532 are arranged in descending order
based on the sum of the digits in each one of them. the middle number is
Podfen 169. 248. 416. 479. 175. 621,532 00 D8 Doad| &5°R0 oSV ATV
3ot 958 i 0085 TP LIS T°¢3e5° SUAIRSEEMY
Options :
| 416

, 169

17

hn

3

4, 248

Question Number : 90 Question Id : 8650044267 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality
eaodiicded avmgé@

If the income tax is reduced from 15% to 12.5% then the tax benefit (in rupees) for a

person whose taxable income 1s Rs. 98.000/- 1s
e3EPOY DAY B 15% Aod 12.5% £ SN, D) SLDVND esm@obo

65°.98,000 /- (0 358 & 35y H0) 0D ods? (arIraes’)

Options :
| 3800

5 3000

Question Number : 91 Question Id : 8650044268 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

enoricied Sjvmgé@

In a direct contest one of the candidates has polled 35% of the total votes polled but
loses by 540 votes. then the total no,of votes polled is

€ DB5E IO &° a8 oz & T'T0 Les° 35% Len Soryom 5D 540 Lt Se=d
LETB 2080 T 8,8 Doy

Options :



2400
2100

L2

, 1800
1860

Question Number : 92 Question Id : 8650044269 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

It the cost price of 10 articles is equal to the selling price of 9 articles then the profit
percentage is

10 S0P §'0) D0 9 DRPL 8L DO VATDe VAD T do
Options :

1
. 125

1
115

Question Number : 93 Question Id : 8650044270 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Ability

esodricded avmgé@

The cost price of the article which fetched a profit of 12.5% by selling it for Rs. 990/- 1s
28 DD 657990/~ § )T 12.5% erdo e5Botdd &0 §9) Do

Options :

| 910

900

L2

880

800

Question Number : 94 Question Id : 8650044271 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arnthmetical Abality

enodricied avmgé@

A and B started a business mvesting Rs. 3.5 lakhs and Rs. 6.5 lakhs respectively. After
6 months A left the business while C joined B with an investment of Rs. 7.5 lakhs in
the yearend profit of Rs. 2.4 lakhs. the share of C (in lakhs of Rs) is

A, B e H62Hme 3.5 wgen, 67, 6.5 wxgen EJ%%JE.}@JE.}S ;.!"’755“50 T Godotrdd.

DOV SETS A T Go Dere, 63.7.5 wge DeeICE C 0d 378 B & €00,
RodS\Trodh ergio . 2.4 w£en ©ond C Jer(wgeed’)

Options :
| 0.35

0.45
5 055

[

0.75

Question Number : 95 Question Id : 8650044272 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esodricied avmgé@

A. B and C start a business with capitals i the ratio 6 : 4 : 3. After four months A

withdraws half of his capital. If the vearend profit is Rs. 13.200/- then the share of A
(in Rupees) in the profit is

AB Cen6:4:3 2}5:{;}@?55 RIIATA LIV ;&“53“6:: T Godotr (). 4 duw BT D
A &3 :}g.anm&.e_‘iﬁ AT DO, é"m&‘aaﬂ‘lm . NodS O odh ergo 6. 13200/ -

00 ocesS” A Tt ( drdrabees”)
Options :

| 4800
, 5400
3600
4200

Question Number : 96 Question Id : 8650044273 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Ability

esodricded avmgé@

Two taps can fill a water tank individually in 10 min and 12 min. Due to a leakage 5 Iit
of water 1s drained every minute. If both the taps are opened the empty tank can be
filled in 7.5 min, then the capacity of the tank (in liters)

208 SB Totd Do DEJET 10 e, 12 Ay’ Aodfv). & SHE deo
D3z s6roT DO DS 5 Hug D oHLE T'BoT") 0.6 Botd DoTPORD
2838 OD\B I DI & B 7.5 WIS’ Vi, & SO F 2088 (Derges® )

Options :

5
1. 129

2 100

Question Number : 97 Question Id : 8650044274 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

enodricied avmgé@

Two taps A and B can fill a tank in 6 hours and 8 hours respectively. If they are
opened alternatively every hour one after the other. starting with tap B then the time

(in hours) needed to fill the tank is
Gocd Dolpen AB e 28 S DG 6 otren, 8 Botree5” DA DodEwD) . &3

DoV 088 SOT S WS TI DS ot L JEr , B & TG e Seg
3&&&?5%3@ DA (Hotrees®)

Options :

Question Number : 98 Question Id : 8650044275 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arnthmetical Abality

enodricied avmgé@

A passenger frain moving at 36 mi/sec crosses a person walking in the opposite
direction with a speed of 4 m/sec in 10 seconds. The length (in meters) of the train is
DED 36 DY Do HAEBD 28 Tew TrIS AW BFS° VLD 4 Db HAES

28 53D 10 DEVES” TrenBcd. & Jen FED (Doeages®)

Options :

360

400

L2

5 420
4 440

Question Number : 99 Question Id : 8650044276 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

A person 1s running at a speed of 10 kmph and after a run of every one kilometer he
takes rest for 5 minutes. The time (in minutes) taken by the person to cover a distance
of 5 kms is

(o025 10 8.20 Dfo & DBNS w8 I8 VA $° WKL LBNGD B65°6 5 IDIrew
DT oS BROLLID. &3 38 5 4.2 Grdo Treerdd HE vvabo (v’

Options :
33
l.

40

5 45

5
4 30

L2

Question Number : 100 Question Id : 8650044277 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esodricied avmgé@

If %ﬂl of a work 1s completed in % days the number of days to complete the rest of the
work 1s
20 HIS" ~Sochod T B’ 378 59 WA I 178 BaD(EIS HE Bare o

Options :

| 21/16



Question Number : 101 Question Id : 8650044278 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

emoricied avmgé@

A piece of work can be completed by A. B and C independently in 15 hours. 12 hours.
and 10 hours respectively. A and B started the work. and after 4 hours C joined them

and completed the work. The time (in minutes) C worked is
208 DA A, B, C e DEDE™ 15 Fotren, 12 (otrew, 10 dotrwres® Jpd Sodredy. A,

Bew $9 DABDD 4 Hotrw $6T°S T¥,E C B0 & DA R B . C DI B2D
Rdvao (DAreres®)

Options :

| 60

75

“ e

; 80

, 96

Question Number : 102 Question Id : 8650044279 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esodricied avmgé@

The radius (in feet) of the circle that circumscribes a rectangle whose length 1s 12 feet
and has an area of 60 square feet. 1s

12 eachorbw TGy , 60 BGEY) et o DFVfo SOAD 28 &gtﬁmdéﬂbl D0Iydo
B2 ;ﬁge_:gmﬁﬁﬂgo(wmmef )

Options :

13
L.

L2

Question Number : 103 Question Id : 8650044280 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arnthmetical Abality

enodricied avmgé@

A wire 1n the form of a circle with a diameter 42 cms 1s bent to form a rectangle whose
sides are in the ratio 6 : 5. The area (in sq.cms) of the triangle whose sides are the

length. the breadth and the diagonal of the rectangle. 1s
42230.80 T(R0 (10 28 HTB6 B o) 6:5 JBES” Foreon™ (o

BEBBET T Co T Dot . &8 BEISICR Ty, Decewy, DEGo oo Gz
DTV o (65.20.20 &°)

Options :
4320

2160

L2

6480

1080

Question Number : 104 Question Id : 8650044281 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

enoricied Sjvmgé@

The radins (in units) of the sphere whose surface area and volume are numerically
equal 1s

ED0B PT Vo, VD DBATEI VO[T VATl &) Ay m&&gn
(565"

Options :

-
i &

fad
;,.I"I

12
Lh

Question Number : 105 Question Id : 8650044282 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arnthmetical Abality
eaodricied avmgé@

A solid copper sphere of radius 3 cms is melted to make a wire of diameter 0.2 cms.
The length of wire is

3 o2 avgaugo g0 208 T°A 20T Fo) €0R0D) 0.2 o.d (R0 (v S
SOITABTR. & A5 T (Doerges®)

Options :
i)

.28
4
6

L
Faa

Lo}

Question Number : 106 Question Id : 8650044283 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

A door 1s 1 the shape of a rectangle of dimensions 10" X 7°. with a semicircle on its
smaller side the circumference (in feet) of the door 1s (Take 1= 22/7)
10" X 77 D007ea0 S0 BIWSOGRD) W) Zd2e 2 28 8 S)do V20D 55" G0

28 T°(Co GoB. & Tr(Bo CINE) toewSod (vce’) (1 =22/7)

Options :
40

5 250

o
4 42

8

L]

4.

Question Number : 107 Question Id : 8650044284 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

espdricied avmgé@

The perimeter ( in cms) of a thombus whose diagonals are 40 cms and 30 cms 1s
DEGo Tedriren 40 0.2 , 30 0.0 (0 28 VB BBUEN2 WELELS (Vo.2b &°)

Options :

140
5 120



Question Number : 108 Question Id : 8650044285 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

If two cubes of sides 15 cms each are joined together to form a cuboid then the surface
area (in sq. cms) of the cuboid 1s

2 28 8 15 20.90 2o o Boch oo €0 g &9} 0&0 :’lﬁ:}ﬁij e3 &9}
200 sDBSL DTV (5.220.80 &5°)

Options :
1 2700

2475

225
& 2250

2025

Question Number : 109 Question Id : 8650044286 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enolricied avmgé@

The number 466 in the decimal system 1s written in septal system as
SF°0% :ch@e‘i& Pof 466 Rarod :ch@ ¢5° T°R) TR0

Options :
1 1233

1334

L2

Question Number : 110 Question Id : 8650044287 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoCrieded avmgé@

The largest integer k < 1110 that leaves the remainder 10 when divided by 11 is
11 8 erhoS #o 10 5B, S(ES Doad| k<1110

Options :



. 1091
1095

L2

1097
1099

Question Number : 111 Question Id : 8650044288 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DBah, 2 gD0Ba3 &mgﬁa

If p. q are statements then ~(p — q) is equivalent to
P, g e DITTLONS ~(p—q) S SOVDAA

Options :

1 P—aVig—p)

~pA@V(i~qADp)

(~pA~QVipAqg

(~pVa Al(~qVp)

Question Number : 112 Question Id : 8650044289 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DBah, 2 gD0Ba3 &mgﬁa

If p and q are two statements then the statement (p A (~q)) A ((~p) Aq)isa/an

P, § €0 B0t DITT VoS OPYED DI5DA0 (p A (~q)) A((~p) Aq) 28
Options :

Tautology
De‘_’e?g ;}@5"
Inverse

De5 B0



Contradiction

5, P00

Comverse

g}ﬁtj‘go
4.

Question Number : 113 Question Id : 8650044290 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DBah, 2 gD0Ba3 &mgﬁa

Ontheset A= {a.b.c} therelation R={(a.b).(b.a).(a.a)} 1s
RS A = {a.b. ¢} D Poiogo R={(a.b).(b.a).(a.a)}

Options :
reflexive and symmetric

DT D60, 3"";&50

symmetric only
Do DGR
symmetric and fransitive

.%“E}J,;ﬁo, MoSao

transitive

oS

Question Number : 114 Question Id : 8650044291 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Hdah, 2gDBa3) &mgﬁa

If A and B are two sets with 5 and 4 elements respectively. then the number of
mjective mappings from A to B is
ot Madddoen A, B en S8 5, 4 Joroesten fo Ddddoowond A Adod B S fo
NN RAVEHO Roady

Options :

1032



Question Number : 115 Question Id : 8650044292 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HAah, PgIDBAD r%)vmgé@

If E € R is the maximum possible set on which f(x) =vVx+ 2+ ﬁ 1s defined
10(1-
forx €E.then E=

D8 x €EES f(x) =vx+2 : - v
R 20208 es3(HE S"q’:‘g‘rﬁﬂ)@ E =

DEESAAR VAL Pod DS E C

mfl —)

Options :
2.0V, 1)
C[2.1]

,[2.0u0.1)
4 [-2.0)U(0.1]

Question Number : 116 Question Id : 8650044293 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAah, 2P DA0D &mgﬁ@

If the intercept between the axes of a line has mid-point at (1 . 2) then the equation of
the line 1s

2,8 DOTOD WFO H06S ‘aci“}&r:‘:‘: 8 oS (1,2) 2063] DocdHS00S &5 B
2ESEI0

Options :
| x-y+1=0
x+y—3=40

2xXxt+tv—4=0

Question Number : 117 Question Id : 8650044294 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
D&ad, rpndab &mgﬁa

The equation of the line through the point of intersection of the lines 2x + 5y = 9 and x
— 3y = I and whose distance from the origin is V5 units is
RO0F0en 2x + 51y = 9 00ain 1 — 3v = ] e° otld Do) wgmﬁfm , SATPe)

Do) Aol V5 ckL Grdo &° Gol DEFEL PASE0

Options :
T L 30 — &
LT o
1. .
2X—y =
ik
K AP =y
3. '
%ty =/
4.

Question Number : 118 Question Id : 8650044295 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAoL, EPfnaan &mgﬁ@

sin 210° 4+ tan 855° + tan45°=

Options :

i, o

a
B | =

Question Number : 119 Question Id : 8650044296 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAL, 2PfDIS0D avmgé@

If tan 30° and tan 15° are the roots of the equation X+ pxtg=0then2+g—-p=

PG x° + pr + ¢ =0 J tan30°, tan 15° &0 Jorerwand o 2 ¢ —p =

Options :
l. 0

g, 1



I-2

Laa

Question Number : 120 Question Id : 8650044297 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
D0, FgDBoH 5"53325@

1+sin 8 3
U=——>>ut—=
cos @ u
Options :

2cos @

2tan @

" 2secH

2cotl

Question Number : 121 Question Id : 8650044298 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

D0, rDoBoD &mgﬁa

A kite is flying with a string inclined at 30° to the horizontal. The height of the kite (in
meters) when the string is 15 m long. 1s

Braod 30° Eero WROD) 8 e 28 ML IMHOS od. &8 trdo T 15
DO D) D & OB B Dot ? (Aerses’)

Options :
T8

15

V2

L2

Question Number : 122 Question Id : 8650044299 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Hdah, 2gDBa3) &mgﬁa

A
-3

=1

hn
-3
o

Question Number : 123 Question Id : 8650044300 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Hdab, &rgDoSaD &mgaa

The remainder when 3x* 4+ 16x> + 4x? 4 2x + 5 is divided by 2x — 1 is

3x* +16x7 +4x? + 2x 4+ 5 &0 2x — 18 efowsr Sesoy HKo

Options :
123
l. E
135
2, 16
141
3 16
147
4. 16

Question Number : 124 Question Id : 8650044301 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DBah, 2FgDBa3 &mgﬁ@

If a polynomial leaves remainder -7 and 5 respectively when it is divided by x — 5 and
x + 3 then the remainder when the same polynomial is divided by x? — 2x + 15 is

W8 WTVDA A x — 5 DO x + 3 B Aot SOV -7, 5 Faren I, ©0d
QIVDAD x° — 2x + 15 B ZhosT SBy Fao

Options :



1.

1 :
2. 5(3_1-)
1
. 5(31—2)
1.

Question Number : 125 Question Id : 8650044302 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

D&0oD, Erjnaon &mgﬁ@

If x>+ x—2 is a factor of the polynomial x* + 3x* + ax® + bx + 16 then the
ordered pair (a, b) =
wiond x* + 3x° + ax® +bx + 16 8 x% + x — 2 28 T6EToSo OV D
gmmﬁ&m(a,b} =

Options :

, (8,12)

, (8,—12)
(—8,12)

(-8,-12)

Question Number : 126 Question Id : 8650044303 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Hdab, &rgDoSaD 5"55325@

Question Number : 127 Question Id : 8650044304 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
D&ad, rpndab &mgﬁa

The number of solutions of the system 3x — 4y = 3 and 9x — 12y = 9 1s

:_-:5;:::&: 3x —4y =3,9x — 12y = 9 & do FoTw "raoané

Options :

1 0

o

2

Infinitely many

D och 'rbDEJ“?‘SSD
4,

Question Number : 128 Question Id : 8650044305 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
D&ad, rpndab &mgﬁa

It the sum to 2n terms of the arithmetic progression 2. 5. 8..... Is equal to the sum to n
terms of the arithmetic progression is 57, 59. 61...... then n=

0908 3¢ 2. 5. 8..... &°D DG 2n HErw Ado o8 FE 57. 59. 61...... &S°D 2L
N HEFO DTS DATIHDOWES n=

Options :
; 10
3 11

3 12

13
4.

Question Number : 129 Question Id : 8650044306 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DE0D, FfAGD &mgéa

If the commeon ratio of a geometric progression 1s ; and its sum to infinite terms i1s 133
then the first term of the geometric progression is

2,8 R 36 3‘&:“555 :)3.13@ ;EIQ)EZ&J", o7 ROV 2o 133 vond LR) N
es (e 36 &5° DG Do



Options :

19

5 38
57

4. 76

Question Number : 130 Question Id : 8650044307 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DR0D, FFDACD 0P

&
(1 +x + E)H — %in k — zn s
& k=0 Ax X k=192k—1

Options :

b ;

(3" +1)
L.

~(3"+1)

(3" - 1)
3

%(3211 = 1)
4.

Question Number : 131 Question Id : 8650044308 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

DAah, &{D0SaD &mgé@

n
If the coefficients of x7 and xBare equal in the binomial expansion of (3 + 2) then N
q P 2

o

% Tl
(3 +3) 8506 Doas” 17, 2 o dinsren pATHONS n =

Options :
42

, 44
; 48

4. 33

Question Number : 132 Question Id : 8650044309 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

Hdah, 2gDBa3) &mgﬁa

2 = .
If o is an integer, A = [“5 5 ] and |A|*° = 1024 then @ =
—a

. a’? 5 10
o 208 @gcgm@w,ﬂz[S 1AIY = 1024 00 a =

—a

Options :

_FE)
L *

-
T W
3 =
g 3

Question Number : 133 Question Id : 8650044310 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Déob, arpndan &mgﬁ@

sinx — cos

x ;
Ar:[ _ ]=?5111I.Ax-|—msx.,ﬂln =
; cosx sinx (—H )

2

(_ll N
(i o
(0
(6 1)

Question Number : 134 Question Id : 8650044311 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
D&0oD, Erjnaon &mgﬁ@

st (-.,“3:(—3— J(x -[—a:])
thmy =
(x—a)

Options :



a

3
-,

1
‘a
1
2a

1
'\."E
Question Number : 135 Question Id : 8650044312 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DE0D, FFNAAD 0P

o
P (1—3-‘f2) -
Y= 3xr—x? dr
Options :
3
1o 1+.'K'2
3
1+x2
2
3
o7
3 1—=x
3
4 1—x2

Question Number : 136 Question Id : 8650044313 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DBah, 2 gD0Ba3 &mgﬁ@

The hypotenuse (in cms) of a right angle triangle whose sides are in the ratio 3:4 and
having area 24 sq.cms is
Zozre ;'.}?‘q:)@ 3 4 cotar, 24 5.20.80 E?Uﬁ" £DADS woe) E'm E230253) sg;:m

(0.8 &°)

Options :

Lh

1.

12

o]

10



Question Number : 137 Question Id : 8650044314 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DD, 2PEDBOD &mgéa

If the two diagonals of a parallelogram are equal and perpendicular bisectors of each

other then it 1s a
2.8 DAToBS BBOCN220806D SJSEU T LD NATHNGT, ) WIS

Do2) VAB(VOGER WS XN Bd 2

Options :

Rectangle
BGSB3060
ald

Rhombus

mmﬁmmaaam

Square

BBAGES[0

Trapezium

Ea P b BleTA) zﬁejad:gaamj

Question Number : 138 Question Id : 8650044315 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Déob, arpndan &mgﬁa

It O 1s the center of a circle on which A. B and C are three points; and if LBOC =
100° then LABC + LACB =

O So@20m (o Hydo 2 D0 DoaPew A. B, Ceneapehd, LBOC = 100°
oS PN LABC + LACB =
Options :

. 80°



Question Number : 139 Question Id : 8650044316 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Hdah, SN leleny &mgaa

The triangle with vertices at (0. 0). (2.2)and (0. 4) is
(0,0),(2,2) 0,4 ® 55?3 %g‘wrr (e G232

Options :

Equilateral
AISVETT™
Isosceles

?a;.‘uc‘ih&arm

L2

right-angled but not isosceles
Lot E'5d0 5°R VA BTV S°E
right-angled 1sosceles

Do) S8 P BT
4

Question Number : 140 Question Id : 8650044317 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAah, 2P DA0D &mgéa

If (e, f) and (y, &) are respectively the points which divide the line joining(7. —5) and
(—2.6)mmtheratios 1 : 2and2: 1 thena4+y—f —46 =

(7.-5) , (-2 . 6) L& $8D Sgrarer=y SGRM 1:2, 2:1 BS” IF@otd DotdaHew
(a,5),y.0)wonda+y—F—0=

Options :

1 @

s
q 2

4

3



Question Number : 141 Question Id : 8650044318 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge ﬂvmg{]@

The arithmetic mean of 100 observations i1s 10. Of these the anthmetic mean of the
first 25 observations 1s 12 while that of the last 65 1s 9. The arithmetic mean of the
remaining 10 observations is

100 HoFwHe 08600 10. HeIeS® 2SSO 25 HBFODO e 06§00 12 5768
D38 65 HOHFVLAL e90s 06§00 9. ADD 10 HdFLH 90850600

Options :

i 10

11

L2

12.5

Question Number : 142 Question Id : 8650044319 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roargs ﬂ‘*.ﬁ)g{,@

The mean deviation about the median of the observations 3. 5.6.5.8.5.4. 8. 7and 9 1s

20d HBFVDV mcﬁ5ﬁﬂo ~Aot) ;ﬁac‘;ﬁé;ﬁ.} oo, 3. 5.6.5.8.5.4. 8.7, &08ain 9

Options :
LS
.16

ok

4. L8

3

Question Number : 143 Question Id : 8650044320 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
Roarge .%)v.:mgée:a

If 17 and 20 are respectively the median and the mean of a distribution then its mode 1s
28 2rasels 17, 20 e S8/ D060, G0 29003 7 EFTVUYE0

Options :



18
16

-2

14

4.ll

Question Number : 144 Question Id : 8650044321 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roargs ﬂvm%@

The variance of the distribution given below 1s
Socs MDD DD Dy

- A W - N — 10
£ 123 . 10
Options :
L i
2, 6
3 3
4 3

Question Number : 145 Question Id : 8650044322 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge ﬂvmg@@

The quartile deviation of 15. 60. 40, 72, 50. 28 and 30 1s
15. 60. 40. 72. 50. 28 20daiw 30 o tdoTro? IR0

Options :
; 18

2 16

i)

-2
=

Question Number : 146 Question Id : 8650044323 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Statistical Ability

Roargs E)vmgé@

If the sum of the squares of the deviations in 9 observations is 5 then the coefficient of
rank correlation of them 1s

9 HBIVDHV VTV HTW S0 5 LANS T §B VBFVoZeMEo
Options :

7
24

12
24

L2

23
24

41
A

Question Number : 147 Question Id : 8650044324 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roargs &m%@

If A and B are independent events such that P(4) = 0.9 and P(B) = 0.8 then
P(ANB)+ P(ANB)-

A, B 20 ot ”@5@0@, RoluLde N, P(A) = 0.9 Sododw P(B) = 0.8 oond
P(ANB)+ P(ANnB) =
Options :

0.26
1.

o]

Question Number : 148 Question Id : 8650044325 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge ﬁvmg{]@

The probability of getting the sum 7 when two dice are thrown simultaneously 1s

G0t FDEVA € TS ANEDVDY D T°¢ DG A0S 758y Doz

Options :



| 36
5
36
2,
1
3 6
5
18
4,

Question Number : 149 Question Id : 8650044326 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
Roargs E)vmgé@

A natural number is chosen at random from the first hundred numbers. The probability
that the number 1s divisible by 3 or 5 1s
208 Dol DI F:JD%J?SU(‘.SG Q3G ST 258 R0 2 DS B &3 Do 3 T 5

D 2rfoded ﬁDQJ“Sﬁé@

Options :
39
1 100

43
100

47
100

5.
100

Question Number : 150 Question Id : 8650044327 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
Roargs E)vmgé@

Three balls are drawn at random from a box containing 9 red and 6 white balls. The
probability that one ball drawn is red and the others are white is
9 8 Lrodoen, 6 By LodLeD &R W8 DG Aot oﬁrcﬁaﬁj&Son“ S eodoew

DI . TS5 w8 A6 ADDD 3w eoaBog Doer|e

Options :
27
91

1,



) o2
17
3
28
143
4.
Commumication Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 8650044328 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

addendum

Options :
compliment

supplement
5 complement

addiction

Question Number : 152 Question Id : 8650044329 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

etfigy

Options :
| elegy

image
prodigy

eulogy
4 i

Question Number : 153 Question Id : 8650044330 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

unmaculate

Options :
simple

—_

gorgeous

? spotless

) coloured

Question Number : 154 Question Id : 8650044331 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

pandemoniuin

Options :
laughter

crowd

o]

, disintegration

4 disorder

Question Number : 155 Question Id : 8650044332 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

embezzlement
Options :
1 fraudulent diversion of funds
. expressiveness
forgery
expenses

Question Number : 156 Question Id : 8650044333 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

hierarchy
Options :
system of ranking



disorder

L-2

a row of high arches

a form of anarchy

Question Number : 157 Question Id : 8650044334 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

One who 1s well versed in many languages is a

Options :

polymath
polygon
polvglot

polyvmer
4

Question Number : 158 Question Id : 8650044335 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

The arguments in the essay could not be followed as the essay lacked

Options :
competence

accuracy
insight

4 coherence

Question Number : 159 Question Id : 8650044336 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

The government has a new programme to promote tourism in the state.

Options :
mnovated

. launched



3 imnvented

4 advented

Question Number : 160 Question Id : 8650044337 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

It is that he could walk 10 kms in thirty minutes,

Options :

1 immaculate

untrustworthy
incradible

increditable

b

Question Number : 161 Question Id : 8650044338 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Algorithm and flowchart help us to

Options :
know the memory capacity

identify the base of a number system

L2

direct the output of a printer

2 specify a problem completely and clearly

Question Number : 162 Question Id : 8650044339 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A system by which someone pays for a thing in regular instalments while having the

use of it 15 called
Options :
hire purchase

hire out

5 hire ling



4 hire

Question Number : 163 Question Id : 8650044340 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

DOS stands for
Options :

Drive Operating System

Data Operating System

-2

Buy Operating System

; Disk Operating System

Question Number : 164 Question Id : 8650044341 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct answer

A scalar chain means a chain of superior from
Options :

bottom to top

top to bottom

left to right
4, right to left

Question Number : 165 Question Id : 8650044342 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct answer

FORTRAN stands for

Options :
Formula transcription

Formula transmission

Formula transcreation

L

Formula translation

Question Number : 166 Question Id : 8650044343 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

Saving backups of sottware programmes and data for future reference or use is called

Options :

| cache memory storage

compiling
cascading

4 archiving

Question Number : 167 Question Id : 8650044344 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The major advantage of using optical fibres for transmitting signals 1s that

Options :

they provide huge band—width

they are not susceptible to hacking

L2

they use natural light

they transmuit signal fast

Question Number : 168 Question Id : 8650044345 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct answer

A Hall Test 1s

Options :
a gathering of people to take part in market research

a small printed advertisement
a person specialized in a particular job

a hall meant to take tests

Question Number : 169 Question Id : 8650044346 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The list of items taken up for a discussion in a meeting 1s

Options :



Minutes
Memo
Circular

Agenda

Question Number : 170 Question Id : 8650044347 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The Trait Theory believes that the qualities of leadership are

Options :
not mbom

mborn

L2

a result of hard training

institutional

e

Question Number : 171 Question Id : 8650044348 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A: T had a brush with the principal today
B: oh! Not again!

B intends to

Options :
mock at A

warm A

make light of the incident

s dismiss the whole episode

Question Number : 172 Question Id : 8650044349 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

“They never see eye to eye” means

Options :
They agree on many things

They do not share similar opinions
They rarely disagree

They seldom get into arguments

Question Number : 173 Question Id : 8650044350 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

I hate sifting him as he always smells of garlic.

Options :
| besides

along

L2

3 at

4 beside

Question Number : 174 Question Id : 8650044351 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

He was 1n a hurry and just glanced the letter.

Options :

| over

5 at

5 through

o1l

Question Number : 175 Question Id : 8650044352 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

A: How could such young boys perform such prodigious feats?
B: It is a gift conferred on them by nature.

B attributes the children’s skill to

Options :
rigorous training

natural mstinct

]

lack of training

their parentage
4,

Question Number : 176 Question Id : 8650044353 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The book tells us in a nutshell. problems connected with environment. The underlined

phra 52 Imeans
Options :

| briefly

elaborately

ambiguously

L

A clumsily

Question Number : 177 Question Id : 8650044354 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

His maiden speech as the CEO impressed evervone. The underlined phrase means his

Options :

; last speech as CEO

first speech as CEO

o]

second speech as CEO

only speech as CEO



Question Number : 178 Question Id : 8650044355 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Our Managing Director has been in town Monday.

Options :
1 since

for

[

01

4. A

Question Number : 179 Question Id : 8650044356 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

I am going to an application for that job.

Options :

put out

—_

put in

put off

L

ut on
, P

Question Number : 180 Question Id : 8650044357 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Much water under the Godavari Bridge.

Options :

1 flowed

flow

L-2

flew

i flown

Question Number : 181 Question Id : 8650044358 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

the fruit bowl.




Options :
| pass away

pass oul

o]

pass over

£l

4 pass o1

Question Number : 182 Question Id : 8650044359 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

If 1t . the match will be cancelled.

Options :
;. will rain

rains

L2

: would ramn

4 1s raining

Question Number : 183 Question Id : 8650044360 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

They are going to the theatre tomorrow: they it the whole week.

Options :

had been looking forward to

have been looking forward to
are looking forward to

were being looking forward to

Question Number : 184 Question Id : 8650044361 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

They when the fire broke out.

Options :

had slept through

have slept by



were sleeping

are sleeping

Question Number : 185 Question Id : 8650044362 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

After a long discussion. I finally agreed him

Options :

with

upon

011

Question Id : 8650044363 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)



Bead the following passage and answer question

Reality television 15 a genre of television programming which, it 15 claimed,
presents unscripted dramatic or humorous situations. documents actual events. and
features ordinary people rather than professional actors. It could be described as a
form of artificial or “heightened” documentary. Although the genre has existed m
some form or other since the early years of television, the current explosion of
popularity dates from around 2000

Critics say that the term ‘reality television 1s somewhat of a misnomer and
that such shows frequently portray a modified and highly influenced form of reality.
with participants put in exotic locations or abnormal situations. sometimes coached to
act i certain ways by off-screen handlers, and with events on screen manipulated
through editing and other post-production techniques. Part of reality television's
appeal 15 due to 1ts ability to place ordinary people 1n extraordinary situations.

Some commentators have said that the name ‘reality television® 15 an
maccurate description for several styles of program included in the genre. In
competition—based programs the producers design the format of the show and control
the day-to-dayv activities and the environment. creating a completely fabrnicated world
i which the competition plays out. Producers specifically select the participants, and
use carefully designed scenarios, challenges, events, and settings to encourage
particular behaviours and conflicts. Mark Bumett, creator of “Survivor’ and other
reality shows. has agreed with this assessment. and avoids the word ‘reality’ to
describe his shows: he has said. “T tell good stories. It really s not reality TV It really

1s unscrpted drama™.

Sub questions

Question Number : 186 Question Id : 8650044364 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The phrase ‘it 1s claimed’ in the opening line indicates that

Options :

the writer agrees with the statement
hardly anvone agrees with the statement

the writer wants to hedge the statement

everyone should agree with the statement

Question Number : 187 Question Id : 8650044365 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



“Explosion of popularity” means
Options :

sudden rise in popularity

sudden drop 1 popularity

L2

dismantling of popularity

negative feedback

Question Number : 188 Question Id : 8650044366 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Reality television features
Options :

ordinary people in their routine lives

—_

professional actors playing the roles of ordinary people

ordinary people in unusual situations

L

extraordinary people in usual situations

Question Number : 189 Question Id : 8650044367 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which is not a feature of reality television?
Options :

It includes several styles.
. It 1s very popular.

It uses fabricated environments.

L

It includes only competition — based programmes
4.

Question Number : 190 Question Id : 8650044368 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which word means “imappropriate name”
Options :
portray

mMisnomer

o]

unscripted

scenario



Question Id : 8650044369 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (191 to 195)

Read the following passage and answer question

I passed all the other courses I took at my umiversity, but I could never pass
Botany. This was because all Botany students had to spend several hours in a week m
a laboratory looking through a microscope at plant cells. and I could never see
through a microscope. I never once saw a cell through a microscope. This used to
enrage my instructor. He would wander around the laboratory pleased with the
progress all the students were making in drawing the involved and so I am told.
interesting stmucture of flower cells. until he come to me. I would just be standing
there. I can’t see anything™. I would say. He would begin patiently enough.
explaming how anvbody can see through a microscope. but he could always end up 1n
a fury, claiming that I could too see through a microscope but just pretend that I
couldn’t. “It takes away from the beauty of flowers anyway. T used to tell hum™. We
are not concerned with the beauty in this course”. he would say. “We are concerned
solely with what I may call the mechanics™. “well”, I'd say. T can't see anvthing .
“Try 1t just once agamn . he'd say. and I would put my eve to the microscope and see
nothing at all. except now and again a nebulous nulky substance —a phenomenon of
maladjustment. You were supposed to see a vivid. restless clockwork of sharply
defined plant cells. “I see what looks like a lot of milk™. I would tell him. This, he
claimed, was the result of may not having adjusted the microscope properly. so he
would readjust it for me. or rather. for himself And I would look again and see milk.

Sub questions

Question Number : 191 Question Id : 8650044370 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In vusing the microscope. the author was

Options :

1 adept

. unskilled

5 B trainer himself

s highly enthusiastic

Question Number : 192 Question Id : 8650044371 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The author could see through the microscope only
Options :

a water like substance

a hard substance

; A milky substance

the beauty of the substance

Question Number : 193 Question Id : 8650044372 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The instructor’s attempts to teach the author were
Options :
| successful

msincere

=]

adequate

1 vain
Question Number : 194 Question Id : 8650044373 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
The instructor’s concern was with the
Options :
| beauty of the flower cells
repair of the microscope
; arrangement of flowers

mechanics of plant cells

Question Number : 195 Question Id : 8650044374 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which word is not a synonym of ‘anger™?
Options :
| rage

fury

[

indignation

L

vividness

e



Question Id : 8650044375 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

E.ead the following passage and answer question

What 1s education 1f 1t 1s not about empowenng: empowernng i order to gain
more control over your hife. It requires you to look at fundamental 1ssues. It requires
vou to look at other people so that you may have an understanding of vour own
identity. It 15 a cultural action within which you as participant learn to recognise the
structural relation between personal and collective consciousness. The teacher takes
yvou beyond binanes, and shows vou the truth that in order to learn you have to define
your needs, your goals. and your strategies, and necessarily understand that needs.
goals and strategies differ both 1n nature and pniority from person to person. and from
group to group. The classroom becomes the site of expenience. Identity and
authenticity may be fashioned here. The leamer takes the first step 1in how to negotiate
knowledge. Every leamer and every teacher needs an entry point that will serve both
as point of reference 1n template and security button m familiar environments.

Sub questions

Question Number : 196 Question Id : 8650044376 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

We should observe other people to

Options :
1 recognise relationships

learn about our needs and goals

go beyond barriers

understand our own identity
4 -

Question Number : 197 Question Id : 8650044377 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1s fashioned in the classroom.

Options :

N Beauty

. Identity

5 Experience
Security



Question Number : 198 Question Id : 8650044378 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The true purpose of education is to help vou

Options :
go beyond the binaries of good and evil

gain more control over your life
negotiate knowledge and business

take vour first step in empowering others

Question Number : 199 Question Id : 8650044379 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which word means “dual™?

Options :
collective

template

authentic

L

, binary

Question Number : 200 Question Id : 8650044380 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For teachers and learners. what serves as a security button in unfamiliar environment?
Options :
i knowledge
an entry point

5 8 template

; authenticity
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